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Match the following:

L. MS-Word 2010 P. | Slides

IL. MS-Excel 2010 Q. | Sheet

III. | MS-PowerPoint R. | Database
2010

IV. | MS-Access 2010 S. | Document

Choose the correct match from the

following:

(A) I-§, II-Q, II-P, IV-R o

(B) IS, II-P, III-Q, IV-R

(C©) IR, 1I-Q, III-P, IV-S

(D) I-R, 1I-P, III-Q, IV-S

Statement 1: Title bar appears at the bottom

of the program window and displays

information about the database and provides

access to certain program function. i

Statement 2: Status bar appears at the top of

the program window and displays the name

of database file and file path.

Choose the appropriate option from the

following:

(A) Statement 1 is CORRECT and
Statement 2 is INCORRECT.

(B) Statement 1 is INCORRECT and
Statement 2 is CORRECT.

(C) Both Statement 1 and Statement 2 are
INCORRECT.

(D) Both Statement 1 and Statement 2 are
CORRECT.

Which of the following is closely related to

locality of reference?

(A) Hard Drive

(B) Cache Memory

(C) CD-RW

(D) Joystick

Select the arrangement of the Network Type

in ascending order based on size and span.

(A) PAN <LAN <MAN < WAN

(B) PAN <LAN <WAN < MAN

(C) LAN <PAN < MAN < WAN

(D) PAN < MAN < LAN < WAN

Which of the following configuration options
are related to Devices setting menu in Setting
App Window in Windows 10?

(A) Change background image and color.
(B) Region, speech and time option.

(C) Manage WiFi, Airplane Mode and VPN.
(D) Bluetooth, printers and mouse/keyboard.

ffelad &1 e & —

L UHTH 9$—2010 P. |z
II. | UA0E Udee—2010 | Q. | e
III* P Pe9URT qTavgise—2010 | R. | Srcew
Iv. URIE—2010 | S. | Sfepic
e & W&t fer 9 —

(A) IS, II-Q, II-P, IV-R
(B) IS, II-P, III-Q, IV-R
(C) IR, TI-Q. INI-P, IV-S
(D) IR, ILP. I-Q, IV-S

99 1: TIged IR UM e @ e RaE
g 3R ST B IR ¥ THFY yeifa o) @
IR BB UM B 06 Igd JSH Hed 2|
AT 2: WeH IR YU fder & i w® s
T ® MR SCHE BIsd IR BIgd W B AW
yafRfa ear & |
frmfemaa & Sugaa fawey -

(A) 9FTF 1 FEl & 3R JI94 2 Tod |

(B) 999 1 Taid & 3R gaqer 2 WE 2|
(C) TFI 999 1 3R Jadeg 2 TaAq & |
(D) TFI 999 1 3R JaqT 2 e T |

fFr=fafag & & a5 @ e & Yovg

(locality of reference) & Hafeld &7

(A) BTS 9129 (B) B (Cache) HAIY

(C) WISIRSTY (CD-RW) -

(D) SRIREH (Joystick)

PR AR AW R JRE F9 § ead TR A

TIRAT BT FIT BN |

(A) PAN <LAN < MAN < WAN

(B) PAN.<LAN < WAN < MAN

(C) LAN <PAN < MAN < WAN ;

(D) PAN < MAN <LAN < WAN

fasrsr 10 # Wfew Uy fie & g HF Bl @

PR fided farga dfeT 49 @ e &2

(A) Ty BT 3R TT ggofT |

(B) NI (Region), ¥ (Speech) . 3R eIgH
(Time) fdeq | L

(C) AIEHIS (WiFi), WR@H (Airplane) AIS 3R
9T (VPN) gefeid &vem|

(D) =, fiew iR 7eg /$eEE |
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6. Which of the following chart contains only 6. THUH Taic—2010 ¥ = § ¥ g =d § Pao
one chart data series and all the values should UH T <l g gl & R w9l "=
be positive for this type of chart in MS-Excel AHRIHG BT AMRT?

A .
(Zgoi,ine Chart (B) Pie Chart (A) TEF (Line) AC  (B) UE (Pie)
(C) Dark Chart (D) Light Chart (C) @ (Dark) AE (D) AT (Light) TTE

7. What is the use of Snap Assist in Windows 7. fdeIs 10 & U sifie (Snap Assist) &I JUANT

10? T 8?
(A) You can run multiple apps on the (A) 319 TS AT (windows) & Gl Tebel
single screen with multiple windows T R TS U .(apps) ool 9P £ gl
i.e. you can write a document in one M U fie ¥ v o forg @ad & aroeh
window, watch your twitted feed~in Rade e Ft E{ﬂ'{f ¥ a_@ oy £ ek s-m oE
another and so on. aﬁ'\f A | gy &
(B) You can control your PC with your (B) 3T o 4R @1 3 amare @ FghE
P \ TR T E |
(C) You can get your files from anywhere, ©) I e N Rama | @& I § o
on any device. e Y !
(D) You can do the video call. pIEel X :
(D) 3T AT Bt FR FH ¢ |
8. 1GB= 8 1ol =....
(A) 1 billion byte (B) 1 million byte (A) 1 ﬁf%m-,:' EIE (B) 1 ﬁﬁ,rq:[ q1sc

9. While sending an email, 9. -9 AT B TNM, ... Heyr o At &1 v
describes the contents of the message. T 2|
(A) To (B) Subject (A) T (To) (B) H&AGE (Subj

ject)
Q. AMischmentsgiigalPrs (C) ITHEH (Attachments) (D) dRRA (Bec)
10. Choos; the most appropriate option from the 10. fA=faRag '\ﬁ GEES ARG} fawe _fﬁ
following:- ‘ (A) Telagie PraE yomel § Sfie &1 sk
(A) Debit cards and credit cards can be used BT IS T SYANT a1 o7 el 2|
. in Electronic Payment System. (B) SITHIR (OMR) P T AW I e
(B) OMR stands for Only Magnetic Reader. fex (Only Magnetic Reader) 2
(C) Skype is an example of system software. (C) 1Y (Skype) ey AR &1 %
(D) The output quality of printer is measured ISR 2|
in Hz. (D) fifex o aMeeye uE &9 § A1) W 2 |
. Statement 1: New Technology File Systemis 11, gagey eEIeroll Biged Red TACIUHUYH
i the full form of NTES. %7
St::iitemlent 2 CeMllslsEan llntersectlon of rows (NTES) &1 T’f B
and columns in xce . :
Flllloose the appropriate option from the IHA 20 TACH-TRI H el A (rows) IR
ollowing: CARL] ufa=sed
(A) Statement 1 s CORRECT * and i BRI & |
& gtaternent 2i s mco&%EOCQRE R fr=fefea @ Suge faeew g+ -
( tatement 18 an
Statement 2 is CORRECT. s (A) e 1 W8 8 3R o 2 Tod B
(C) Bo tatement 1 and Statement 2 are
Do S (B) T 1 Tl & R G 2 ﬂﬁ?l
(D) Bot}téRSéatement 1 and Statement 2 are (@) T g9d 1 IR Il 2 Tord g1
e : (D) TFI gaae 1 3R g 2 wE F|
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12. In MS-Excel 2010, you can import the data 12. THUH-Yael 2010 # oy ST AT FRHHA

from: -

(A) MS-Access database (A) THTH — Uad Scled sl

(B) Web pages (B) 99 U9 |

(C) Text file (D) All of the above (C) TRE HIgd 9 (D) SWIa T |

13. Which of the following is NOT a valid 13. fr=faRag & $= T IR fyeed &1 9
example of an Operating System? ISTEI0T T8 27
(&) Lingx (A) ForeRT (Linux)

(B) Google Chrome (B) [T P (Google Chrome)
(M-S (C) THUESH (MS-DOS)
(D) Google Android (D) TFT W (Google Android)

14. is a type of wired cable that 14, ... UF YBR B ahS (wired) PIA ©,
f:onsist_ of a center wire surrounosied by e g=gere ™ ¥ R 16 LY aR BT ? @R
Lnsglatlon_ and then grounded shield of v ¥eE dR B o Bl 2|

raiind S (A) feods YR (Twisted Pair)
(A) Twisted Pair : J

(B) Co-axial (B) Hﬁ—qﬁﬂm (Co-axial)

(C) Optical Fiber (C) diiftedel HIFER (Optical Fiber)
(D) None of the above (D) SHW # | IS Tl

15. Suppose the contents of the worksheet is 15. HI 3 5 qFthe & =l & 8 & w4
such that when you take the printout it will fifcanse o € O T8 e TE\f # T 3R
be in multiple pages and now you want to I Y S8 @Y @ ficanse @ THTE-Uad
shrink the printout of the same worksheet 2010 # U Uw ¥ fife o aed & 9 g9 s9&!
into one page in MS-Excel 2010, then we use ITANT N -

(A) No Scaling (A) AT ThfelfT  (No Scaling)
(B) Fit Sheet on One Page (B) fbe e i I U (Fit Sheeton One Page)
. . () fre dfiie @iff Afeeud U (Fit Sheet on
(C) Fit Sheet on Multiple Pages Multiple Pages)
(D) Merge and Center (D) 7o U8 Jex (Merge and Center)

16. is used to divide the current 16. ... &1 SUgRT adaE fier &t & Rl
window into two parts so that you can view g s @ forg far o & aifd 39 U6
different section of the same document at the A 9 ¥ e & Wy & fafs gEm G2l
same time. G qD |
(A) Macros (A) ﬂ'sFﬁTrT (Macros)

(B) Split window B) Rwe fder (Split window)
(C) New Window () = fdS1 (New Window)
(D) Gridlines (D) fIrees (Gridlines)

17. Suppose you download an excel file from 17. 9 Aw fd Mg sewAe ¥ TR wEd
internet and you open in MS-Excel 2010 it TeTaE ® & 3R 3Y THUE-TaTe 2010 3
will ﬁrs_;t open .in: @ & 9 Q@Fﬁ a
Eg)) E;it:\\’/?:: (A) Wigde T 3 (Private View)

(C) Backstage View (B) Ufectd g3 (Public View)
(D) Protected View (C) d&wS F # (Backstage View)
(D) giedcs g ¥ (Protected View)
[Set--C] Page 4 of 8 Dec.-2018
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18. Select the most appropriate option from the 18,
following:
(A) Cul + X is used for Cut operation and

Ctrl + P is used for Paste operation in
MS-Word 2010.

(B) Ctrl + C is used for Cut operation and

Ctrl + P is used for Paste operation in
MS-Word 2010.

(C) Ctrl + S is used for Save operation and
Ctrl + U is used for Save as operation in
MS-Word 2010.

Ctrl + Z is used for Undo operation and
Ctrl + Y is used for Redo operation in

MS-Word 2010.

(D)

19. Which of the following is
advantage of Primary Key?
(A) It is automatically indexed, which
makes information recovery faster.
It avoids the entry of duplicate data in
table.
It consists of only one field that
uniquely identifies each record in a table.
All are the advantages of Primary Key.

(B)

(©)

(D)

20. j is a special security system 20.

designed to protect an organization’s network
against external threat.

(A) Narrow Band
(C) Firewall

(B) Voice Band
(D) Broad Band

21. What is the correct example of URL? 21.

(A)
(B)
©)
(D)

http://www.example.com/index.html
index @example.com

rscit@vmou.ac.in
123@456.com

22. Whatis'Data? 22.

(A) The raw, unprocessed facts, including
text, image, numbers and sound.

(B) Itis aset of programs.

(C) It is a hardware device which includes
keyboard, mouse, monitor etc.

(D) Itis the 2™ generation of computer.

NOT the 19.

ﬁw%@a%%nmﬁmgaﬁﬁmmw
(A) W—ﬂ%‘ 2010 ¥ ®e IEE P f?m
SUART

Ctr1+xzm foar wrar 8 3R U
arrcri*z%r—r fou cul + P &1 SwEm feu
T 8 |

(B) UHUH—d€ 2010 ¥ e e & forw
Cul + C & SUINT fhar o 2 @ik U
AfReE B U cul + P &1 SUTRT fhar
ST 2|

(C) THTE—aE 2010 ¥ Cul + S &7 SUIRT A9
PR B forg far S € @R Cul + U &1
STANT |T VST B & forg fobar oram 2

(D) THUH-TS 2010 H Cul + Z & IWANT g
dmeE & fou fFm wmar ? ek g
AT & fIU Cul + Y &1 Sugn oy
T B |

fr=fefT § | S e ol & oM 1@

4

(A) T8 WEIfeld w9 ¥ ISES ' W ga
Readt 3 991 991 2|

(B) ¥g diferdr # Sfewe STr @ ufafe @
AT 2 |

(C) 399 DI TP Bles Bl & W arferdr ¥
1A% Raie & fitre w9 ¥ tmamd 2
) T TG FHol B T & |

TS fA9IY R goTel § @ A @

@ Raems 5t W & Aeaw @ gren & for

fesrg 1 T8 2 |
(A) EEl %(Narrow Band) (B) a"ré'ﬁ %(Vnice Band)
(C) W?ﬁa (Firewall) (D) e 'a.@'(Broad Band)

JARYS (URL) BT Al IITE 7 87

(A) http://www.example.com/index.html

(B) index@example.com

(C) rscit@vmou.ac.in

(D) 123@456.com

ST AT &7

(A) I8 e, Jewig o dfkd ue, ®f
H@T AR @t 7|

(B) UE PHTUHAT & TH T 2 |

(C) I8 Ud BreawR feargw & forwt e, A9y,
Hifer gefe e &)

(D) TE A UIGT BT B ¢ |
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| is a service model, in which dataare 23, U® Wl ded 2 Rrwl Qe @y
maintained, managed, backed up remotely ST var, welda fbar e g, T W7 Y
and made available to users over a network, SHag forar ST 2 3R Seqd L4 Gq?ﬂ'fl“cﬁ-ﬁevﬁ
(A) Artificial Intelligence DI SUE FRAT SraT .={|
(B)  Virtual Net (A) %r%ﬁ?ﬁma s%:gaw (Artificial Intelligence)

(B) 31eT (Virtual)
(©) Cloud Storage (C) TS TR (Cloud Storage)
(D) Corei3 (D) R (Core) i3
24. What is the use of applying Header and 24, Siqpie ¥ g ik WX o T 997 IUAnT 27
Footer to a document? (A) 3HHT  IUIRT  fased) ﬁaqw a - 9EN
(A) Itis used to link to a webpage or outside TR ¥ Sed & e frar @i g
documents. (B) SHPI IUANT € d 99 us CIRRIE R

(B) It is used to incorporate text into a Caaica fore favar Smar 7 i ue U8 R
document that is repeated on each page TERAT WET 2O HUAT TH @R PLS)
like company name and page number. [T |

(C) It is used to change the Theme and (C) $HST ST SRpie @t oAy (Theme) 3%
Page Background of the document. U9 ISR BT 950 & forw fhar wrar 2l

(D) It is used to identify a location or a (D) SHGT IYANT foefl w77 e P T
selection of text that you name and P UBEH FE P forv forar simar & Rrger
identify for future reference. M 39 Hfesy $ Hed & forw e &)

25. Which of the following are in the category of 2. T ¥ B @ Hiee Jeaf dgaEel B Sof
social networking websites? q &

(A) Facebook, Twitter and LinkedIn (A) BEgH, feaer 3R fiess,

(B) Google, Yahoo and Alexa (B) [Te, UG 3R Terasm

(C) Microsoft Edge, Mozilla Firefox and (C) AIZHIMTE T, Ao BERwTER sl
Chrome EaL -

(D) Flipkart, Amazon, and Snapdeal (D) freaTe, sm ik wiuda

26.  Which of the following is NOT a Pointing 26, frfefad & & a9 = uigfeT (Pointing) fEarsw
Device? el 87
(A) Mouse (B) Touch Pad (A) HISY (B) T US (TouchPad)
(C)! nick Tk e i (C) & Uige (rackPoint) (D) FARS (CrT ) Hifes

27. Daisy wheel is a type of: 27. Sl @ (Daisy wheel) U5 THR FT gl
(A) Matrix Printer (A) AT (Matrix) =z
(B) Impact Printer. (B) 3HTE (Impact) =%
© Non—lmpac't i (C) FF—g=ae ( Non-Impact) fiiex
(D) Thermal Printer .

(D) 9He (Thermal) fifex ”

28. Which data type is used to create a field that 28, THUG-Uad 3 U & aifersr § ey Biee P
is based on a calculation of other field in the TEl & JER R T Bles g1, 3 foru fby
same table in MS-Access? Tl TI3Y & IYANT a7 ST 0
(A) Attachment (B) Calcm?te{j (A) aiéﬂﬁe (Attachment) (B)?ﬁaﬁé@ (Calculated)

(C) Text (D) Date/Time =
(®)) TRT (Text) (D) 3’6/ CIgH (Date/Time)
[Set--C] Page 6 of 8 Dec.-2018




29. In MS-Word 2010, you can create small 29. THUH 9E—2010 H, MI ..o BT IYIRT B
letters above the line of the text using...... U8 &I X1 & HWN BT AFeRT B forg Ty £
(A) Grow Front (A) I e (Grow Front)
(B) Shrink Front (B) #fi® %< (Shrink Front)
(C) Subscript (C) W< (Subscript)
(D) Superscript (D) '\Tﬁﬁiﬁ‘f (Superscript)
30. How computers are used in doing homework 30. fd&ery & I=af & ﬁ*f(' AP P | W 6l
for school children? IUANT HY fhar omer 27
(A) By creating . dopuments, excel (A) WE TR, T aadie iR
workshee_ts am‘i using internet. ) E'EF}?I & ST |
(B) By creating digital ads and scheduling J ;
el (B) f$firee fasmom avmaw ik #ifeT dregfoim &)
(C) By watching online Bollywood movies (C) 3FeTgd diclige fheri & A @aw |
video. (D) Whel & geE © oI YR B BIg
(D) Th};i;e is no use of computers for school IYAAT TE R
children.
31. What s the use of 3-D Printer? 31. 39 fiex &1 IuIT AW R?
(A) Manufactures physical objects. (A) Wifts a?\jaﬁ P AT BT 2|
(B) Prints the 3-D object on A-4 size paper. (B) U—4 PR & YR W 3—<) sifectae fiic Frar
(C) Navigates 3-D maps on the computer 2
monitor. (C) dYX #Hifiey W 3= FERA e
(D) To see the 3-D movie on the Projector. HT B |
(D) mﬁmwa—éﬁﬁmﬁ@m%l
32.  Which of the following is a valid example of 32. fFfoiRag § ¥ @4 @ é—fna'c' ®T qY TSR
e-wallet? 4
(A) Drop Box (A) ST diad (Drop Box)
(B) Way to SMS (B) ¢ ‘c’ K"ﬂm (Way to SMS)
(C) Monster India (C) Aivex 3f¥AT (Monster India)
(D). PayTM Q) YA (PayTM) '
33. key enables you to delete the 33. Hofl AYH! PR & < N quf (i) B
character(s) to the right of the cursor? geM ® 9ay 991t 2
(A) End (B) Backspace (A) US (End) (B) SHEN (Backspace)
e atione (©) Refie (Delete) (D) B (Home)
34. The option in Control Panel by which we can  34. HvgIql U9e1 & fadpey R ERT &9 fSarga o
manage the energy consumption of the SOl @YU P YeuT R GHd & |
?}i‘)dcs < Opti (B) Internet Option ) qmeﬁﬁmﬁ? ®) % Py
_ ower Option ernet Optio
(C) Electricity Option (D) Mail Merge © ey (D) e St
35, | inputs a URL of the desired 35. 9 SR H .o W gifsd HERE P
resource and displays it in Web Browser. IIART (URL) g79C N AR 5H TeRfa |
(A) Home Button (B) Status Bar (A) 29 929 (B) wVeq )
(C) Address Bar (D) Stop Button © Q;%R:[ p— D) =1 gee
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Four alternative answers are mentioned for
each question as (A), (B), (C) & (D) in the
Booklet. The Candidate has to choose the
most appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

For Example :

Question :

1. ® @ © )
2. ® ® ® ©

lllegible answers with cutting and over-
writing will be cancelled.

4.

TE-gRa®E # e We @ a] gefad
I & (A), (B), (C) 3k (D) | wdemedi 99
IRl fddcdl § 9 U W& SR B 999 N
I OMR 3TR-¥ie ¥ Fdemgar fafea
PN| SR P! IRR-TC H FHEAUT g
g § 9 geR R &

JSTEVIRS :

s

¥ oy £ O ©
2. ® ® ® O

Jufed SR a1 U9 SR R @rer a1 g5
T 8, v v 'R S

5. In case the Candidate does not fill the 5. af odemff sR—die # el ®l
appropriate circle in the Answer-Sheet and T8 W 2 @R ImR-diic @ @il Bis
leaves blank ‘Zero’ mark will be given. T R, O I &F we fHar S|

6. The candidate has to mark carefully as per 6. et @1 uwEt & 3w OMR s=R-ve
direction the answers on the OMR W Pagd Dle 1 Ad dicdl @ge U9 A
Answer-Sheet with black or blue ball fardegeR sfea w7 B |
point pen only.

7. Strict directions are hereby given to you to 7. auer we ey Ry o € & smr OMR
refrain from correction of your earlier i gd # Ry T IR @ 8o & fow
marked answer in OMR by rubbing or e a1 BIed I g% g BT SUANT A8
scratching or using white fluid. In case of a4 | afE 39 Adw & sgda A o @
violation of this instruction, your result a1 JTUHT IR BT AT FHAT 8 AT AIDHT
may not be processed or you may be olen # SRy =iy fhar o A € |
declared disqualified in the exam.

8. The examinee shall hand over OMR 8. vl #r et w1 ¥ e 799 BleR
Answer-Sheet to the invigilator and can ¥ @ OMR I=R-¥e e & a9
take carbon copy of the OMR Answer- U 2t g1 OMR I=R-He & e
Sheet and question booklet with himself. A T FeE-gRaST AT W @ O wdd

gl

9. Write your Roll Number and other 9, m—m & gays W @ OMR
required details in the space provided on IeR-He w® FuiRa e 4 srgpaie o
the title page of the booklet and on the g fAawor 56 U9 I1 9 @ige UH | &
OMR Answer-Sheet with ink pen or ball W | U BT AT T B
pen: Do not use lead pencil.

10. To bring and use of log-book, calculator, 10. oen P § AT-gH, Dogorey, YR AT
pager & cellular phone in examination hall Ve’ BF o ST qAT IHDT ST BRAT
is prohibited. afta 2

11. All the questions are bilingual. In case of  11. Wl W& fgwiide &) af} el sea—gfaa
any discrepancy the question in English ¥ giroll dor fawd argare # $1E frerar W
shall be treated as correct. STl & @1 Sl SaTe & W BN |
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VARDHMAN MAHAVEER OPEN UNIVERSITY, KOTA
Rawatbhata Road, Kota -324021

34

RSCIT CELL
Answer key of RSCIT Exam held on 23-12-2018 Dated: - 23-12-2018
S.No. SET-A SET-B SET-C SET-D

. 1 - A D A B
2 B B C A
3 D C B B
- C D A A
5 B D D A
6 B A B C
7 B £ A B
8 A B A A
9 D C C B
10 A D A C
11 A A D C
12 C D D A
13 A A B B
14 B B B A
15 D D B *
16 B A B D
17 D B D D
18 A B D D
19 D C £ B
20 B C C C
21 A C A D
22 & C A C
23 C B C A
24 A A B D
25 B A A B
26 C B D D
27 ® A B B B
28 A B B A
29 D A D A
30 D D A C
31 B B A B
32 D A D A
33 A A € D
C D A A

A A C D

| 35

Grievance related to above key will be entertained till 28 December, 2018 received by email only.
Kindly send all the grievances on below mentioned e-mail address only.

Email Address:- rscitexam@vmou.ac.in -

ek ‘gn——
!' ! ; ,/' 25 .-- H{I I
Controller of Examinations




